Counting in 2s & 5s

Count in: 2s and colour the squares

, 5s and colour the squares red, squares that
are both 2s and 5s colour blue. Do you notice a pattern?

T 2 3 4 . 6 7 8 | 91|10
M1 12 113114 (15 (16 (17|18 | 19| 20
21 122 123 |24 |1 2512627 (28|29 ] 30
31132133 |34 |35 (36|37 |38 39] 40
41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50

Count in: 2s and colour the squares , 5s and colour the squares red, squares that
are both 2s and 5s colour blue. Do you notice a pattern?

112 3| 4 IIII\ 6| 7181 ali0
1M 12113]14]15]16]17]18]19] 20
2122|2324 |25 |26 |27 |28 29|30
31 132|33|34|35|36|37|38]|39] 40
41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50
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Answers — Counting in 2s & 5s

Count in: 2s and colour the squares , 9s and colour the squares red, squares that are

both 2s and 5s colour blue.
Compare your squares to your partners, do you notice a pattern?

T 2 3 4 6 7 3 9 | 10
M 112 (13 ] 14 16 |17 118 | 19 | 20
211 22 | 23 | 24 26 | 27 1 28 | 29 | 30
31132 | 33 | 34 36 | 37 | 38 | 39 | 40
41 | 42 | 43 | 44 46 | 47 | 48 | 49 | 50
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